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Subtraktion (vertikal) Name:
L 6se jede Aufgabe. Antworten
1.
1) 9.185 2) 381 162 4 258
-8.113 - 3 - 39 - 7 5
3.
4.
5 6.877 6) 574 170 8 7.144 >
-5.995 - 343 - 13 -9 6
7.
8.
9 609 100 3.015 7.072 12) 2.593 9.
- 7 - 87 - 41 - 832
EE— EE— —_— — 10.
11.
12.
13) 26 14) 1.185 52 16) 30 13
- 3 - 25 -39 -19
o S o o 14.
15.
16.
17) 724 18) 6.753 9.001 200 32 17
- 284 - 379 - 907 —__5
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10.
20.
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Subtraktion (vertikal) Name: L Osungsschlissel
L 6se jede Aufgabe. Antworten
1 1.072
1) 9.185 2 381 3 162 4 258
-8.113 -3 - 39 -7 . 378
1.072 378 123 251
3. 123
4 251
5 6.877 6) 574 7170 8 7.144 > 682
-5.995 - 343 - 73 - 5 6 231
882 231 97 7.139
7 97
8. 7.139
9 609 10) 3.015 1) 7.072 12) 2.593 9 602
- 7 - 87 - 41 - 832 o 2908
602 2.928 7.031 1.761
11. 7.031
12, 1.761
13) 26 14) 1.185 15 52 16) 30 13. 23
- 3 - 25 - 39 -19
23 1.160 13 11 e 1160
15. 13
16. 11
17) 724 18) 6.753 19 9.001 20 32 o 440
- 284 - 379 - 907 -5
440 6.374 8.094 27 18. 6.374
19. 8.094
20, 27
1-10 195(90(85|80| 7570|6560 |55 |50
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Subtraktion (vertikal) Name:
L 6se jede Aufgabe. Antworten
1.761 882 123 7.139 7.031
251 97 378 1.072 231 1.
2.928 602
2.
1) 9.185 2) 381 3 162 3.
-8.113 - 3 - 39
- — - 4.
5.
6.
7.
4 258 5 6.877 6) 574
- 7 - 5.995 - 343 8.
9.
10.
11.
170 8) 7.144 9 609 12
- 73 - 5 - 7
100  3.015 1) 7.072 12)  2.593
- 87 - 41 - 832
Geandert 1-10 | 9283 75|67 [58[50] 4233|2517 |
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